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COMPANY: ENI - AGIP
WELL: Florida 1
FIELD: NFW

RIG: Zagreb 1
COUNTRY: ltaly

Used logs: AO90-HROM-HALC-EATT-RX08-BFV
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Date Processed: MAR-2000 Date Logged:
Job Number: agee6428 Processed at:
Well Location: Mare lonio Zona "F"

Latitude: 39 10' 35.097"N Longitude:
Elevations: KB: DF:
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egligence on our part, be liable or responsible for any loss, costs, damages or expenses incurred

the accuracy or correctness of any interpretation, and we shall not, except in the case of
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se interpretations are also subject to Clause 4 of our General Terms and Conditions as set out in our current

The well name, location and borehole reference data were furnished by the customer.
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Allinterpretations are opinions based on inferences from electrical or other measurements and we cannot, and do
or sustained by anyone resulting from any interpretations made by any of our officers, agents or employees.
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